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FACULTIES OF ARTS AND SCIENCE
B.A. / B.Sc. III-Year Examination, March / April 2014

Subject : Mathematics

Paper - IV(a) : Numerical Analysis

Time : 3 Hours Max. Marks : 100

e : TAF 5  HH-Y-HH Ueh Y99 & 997 T GE-A T FS 6 3T @S-B I

HE I 4 J94T F 3¢ AGTE | ES-A & 9fd 999 & 6 3% 3T WS-B & 99
9T F 16 37 fFaa

WS - A (6x6=36 Marks)

-1

?aﬂgf(xbomﬂwmdﬂ arEd ol (Root ) I i &l s gsia & faaxor
ST |

2. sinx:%xWﬂ%W%WWF%@WmﬁNewton—
Raphson T&id ITANT ST |

ShT3-11

3. fos AR & Bed f(x) = — %ﬁ?ﬁlﬂﬁﬁzm-w G;Cdﬁm%aﬂudn

=< (arguments) T |

4.  TIEYE SHIUHEIGER T TTEY &l STHEEAT A &8 4T et | 1955 & S=HeE
T A HIfST |

aY x 1951 1961 1971 1981 1991
&y (F8FH) 46 66 81 93 101

gahTS-111
5. aﬂaﬁ'{al?waﬁwa%ﬁq@@yzaﬂ+alxﬁﬂ@ﬁﬁﬁdata%
3TIEY B |

X O 1 2 3 4
Y 1.0 29 48 6.7 8.6

7
6.  Boole & fIH T 34T Y T 8 strips TWHT [x” logx dv HT Y& T T
3
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7. %@aﬁwﬁ%wmwﬁﬁ Gauss-Seidel & T HIfSTT |

8. feare : -—-1+xy 3ﬂTy(0) 1, y(x) & T Taylor & S0l 9o FifSTe 37X
W%Eﬁ'ﬁwwﬁy(o 1) &l AT HifeTT |
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9.(a) FHIHIU f(x )=0 WY dAged (multiplicity ) p A Hieea s+
Generalised Newton @l T&fd ol T I0T HifST2 |

(b) GHIHIT x°-18=0 Hl A (root) TIMYT & A WMl I T I A
Newton-Raphson T&Id &l ITANT hifSTS |

10.(a) FHFHI £(x)=0 & Fcded o FAfeaa &3 1 o 3 gsfa guid

HISTT |

(b) THETISH TEid T sinx=1-x THIHIT FH Tl (Root) I HifSTT |

ShTS-11
11.Ca) HAT-3TY & [T Newton T GHT=T 37d4 9107 (Inter polation )
T T ST |
(b) [ data § us, stirling 1 g STINT FF AT HISTS -
‘-120:14-035 . u25=13.674 ’ U30=13.257 . U35”—"12.734;
U40=12.089 > 1145:1 1.3039

12.(a) I & fAIR Gauss T 3T (forward ) G STGHeAST HIfSTC |

(b) Lag range & {3 &l A7 &ich T & 9§ U (cubic polynomial) IS
HINSTE T 971 data 9 34l (approximates ) 3|

X -2 -1 2 3
y(x) -12 -8 3 5

13.(a) f&T 9 data P G T TLA 1GT Fit o OF 9T ( Normal ) Tl
I cu— FHIfSTT)

(b) ﬁwwﬁﬁrx=3w-‘%aﬁ@ﬁm

X O 1 2 3 4 5 6
y ©.9897 7.4036 7.7815 8.1291 8.4510 8.7506 9.0309
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14.(a) T YR FHGCH [y dx 1 HiIhe (approximate) Yo YK HTH &

ATH GF g cd—~ hifST |

(b) Simpson% % ﬁwﬁw%ﬁmwﬁaﬂ%w

1
FIfSTT - j D i @t h=t
01+x 6
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15.(a) L GHIHION &b GHE I YA FT Jacob I AUGN &id guid
- HISTe

a;1X;+axX+a;3Xs=b,;
ar1X1+a2,X,+a2:x4,=b,

a31X+az;X+a33X3=bs3

(b) HHIHUN & THE Pl YA Gauss-Seidal T&fd AN HIfSTT |
27X + 6y-2z=85 ;6x+ 15y +2z2=72 ; x+y+54z = 110.

16.(a) Taylor % U TGfd TR 3T6he] YHIHL0T y ' =f(x, y) oI H g5
&l faaTor QfSiT |

(b) Runge-Kutta &l fourth order T&id ¥ y(0.2) ITd HIfSTT | fear e

v(0)=1 3ﬁTy’=3x+%y.
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